V=4 7/

Hi-Tech Parts

REF 9667 WINDSHIELD NAKED NEW GENERATION TOURING

1

1 Person

DESCRIPTION
1 Touring screen 1 9667A/F/H/N/R/
WM3
©

2 S 7/ 0 Right metal support 1 SOPOR-2P-2-9666
3 Left metal support 1 SOPOR-2P-2-9666
4 @4 x @8 x 3,5 arrowhead 4 CASQUI------ 182
5 % M6x35 @11 1SO 7380 Allen screw 4 TORNIAI7380-276
6 & M5 Silentblock 4 | SILENBTM5-046/1
7 M5x1 Nylon washer 4 ARNVOO00000245
8 % M5x15 @11 1SO 7380 Allen screw 4 TORNI-I7380-493
9 a M5 1SO 7380 screw cap 4 | TAPON-------- 85



https://www.motorcycleid.com/puig/

(7]
Z
e
-
v
)
1 4
-
(7]
Z
(Y
Z
-
4
>
(o)
p

Hi-Tech Parts



https://www.motorcycleid.com/windshields-fairings.html

